ST. FRANCIS XAVIER SCHOOL
MODEL QUESTION PAPER
CLASS - IX
COMPUTER

Question 1
Predict the output of the following programs. Show the working.  [5*3=15]
a. class Op3

{

public static void main()

{

int code;
for(code=1;code<4;code++)

{

switch(code)

{

case 1:
System.out.printin("A");
break;

case 2:
System.out.printIn("B");
default:
System.out.printin("C");
case 3:
System.out.printin("D");
case 4:
System.out.printIn("E");

break;



case 5:

System.out.printin("F");
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b. class Demo111

{

public static void main()

{

int n =6, term1 = 0, term2 = 2;
for (inti =2;i<=n; ++i)

{

System.out.print(terml + ", );
int term3 =term1+term2;
terml = term2;

term2 = term3;
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c. public class Demo1111

{

public static void main()

{

int number = 201;

if (number == 201)



{

System.out.printin(*1.Don Bosco");
}

else if (number == -201)

{

System.out.printin(*2.Park Circus");
}

else if (number <= 201)

{
System.out.printin(3.Kolkata");
}
}
}

Question 2

Differentiate:

1. Entry and Exit Controlled Loops (with an example each). [3]
2. If-else and Switch Case Construct. [2]
Question 3

A library charges a fine for books returned late. Following are the fines: [10]

First seven days : Rs 10 per day.

Eight to Twelve days : Rs 12 per day.

Above Twelve days : Rs 15 per day.

The following program calculates the fine assuming that a book is returned N days late
import java.util.*;

class Library

{



static void main()
{

int N;

double fine;

Scanner sc=new Q) (System.in);

System.out.println(“Enter the no. of days the book is returned late:”);
N=sc.__  (2)___ ;

if(N<=_ (3)__ )

fine=10*N;

else if (N<=12)
fine=10*7+(__ (4 -7)*12;
I ©)

fine=_ (6)____+ _ (7)___ +(N-12)* @

9) .out.println(“Fine="+ (10) );
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There are 10 blank spaces. Please fill them according to the following format.
Number

Values

1)

)

(©)

(4)

()

(6)

(7)



(8)

(9)

(10)
Question 4

Write a program to enter any 10 numbers and check whether they are divisible by 5 or not. If
divisible then perform the following tasks:

(a) Display all the numbers ending with the digit 5.

(b) Count those numbers ending with 0 (zero).

Note: Please provide the VDT for the program. [10]
Question 5

Given below is a hypothetical table showing rates of Income Tax for male citizens below the age
of 65 years: [10]
Taxable Income (TI) in Income Tax in

Does not exceed 1,60,000 Nil

Is greater than 1,60,000 and less than or equal to 5,00,000 ( TI-1,60,000) * 10%
Is greater than 5,00,000 and less than or equal to 8,00,000 [ (TI-5,00,000) *20% ] + 34,000

Is greater than 8,00,000 [ (TI - 8,00,000 ) *30% ] + 94,000

Write a program to input the age, gender (male or female) and Taxable Income of a person. If the
age is more than 65 years or the gender is female, display “wrong category*.

If the age is less than or equal to 65 years and the gender is male, compute and display the
Income Tax payable as per the table given above.
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[Attempt all questions]

1) ‘A particular type of animal tissue shows alternate light and dark bands and is

unbranched.” - Based on this information, answer the following —
a) Identify the tissue.

b) Give an alternate name of the tissue and state why it is so called?

c) State the location of this particular kind of tissue.
d) When is this type of tissue used in our body?

e) How is this tissue unique from other kind of tissue, regarding its nucleus.

f) What is the above condition (e) called?
g) Show a labelled diagram of the particular type of tissue.

[8]

2) a) Draw the structure of the organelle where food is manufactured by plants and

label its parts.

b) Name and define the physiological process that takes place in the above

organelle.
c) Name two organelle which has its own DNA.

d) There are two another organelle other than the one mentioned above, which falls

under the same category. ldentify them and state their function.

3) Observe the figure A and answer the following questions:

a. Label the parts numbered 1-14
b. Which part
i. controls the metabolic activities of a cell?

ii. provides energy for carving out functions?

iii. helps in the synthesis of carbohydrates?

iv. regulates the protein synthesis in the cell?
c. Name an organelle which is not present in the animal cell.
d. Differentiate between 1 and 10 based on their composition.

[8]

[8]

4) Observe the cell organelle in figure given below, and answer the following questions: [8]



Name the cell organelle and label the parts numbered 1 -4. |

a.
b. Write two similarities between above organelle and plastids of the plant cell.
c. Isthe above organelle present in a plant cell?
d. Give an important function of the above organelle.
e. What is the other name of this organelle? Justify the name.
5) Observe the cell in figure given below and answer the following questions- [8]
a. ldentify the cell.
b. Name at least two organisms which are composed of this kind of cell.
c. Write two characteristic features of the nuclear region of the cell.
d. How is the cell structurally different from an animal cell? Mention two
differences.
e. Name a eukaryotic organelle found in the cell.
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Question 1.

Answer the following based on the images given:-

[6]
\\l“\ )
élzm nitrate

Burner

a) the above reaction is a type of
A. displacement
B. combination
C. decomposition
D. neutralization
b) the brown coloured gas formed here is:
A. nitrogen
B. nitrogen dioxide
C. nitrogen monoxide
D. none of these.
c) the residue formed here is
A. lead dioxide
B. lead tetroxide
C. lead monoxide
D. lead nitrite
Question 2.

reaction.

i. Aluminium oxide can be converted to aluminium by the process of decomposition.
a. Which will be the reduced product here? [6]
A. aluminium oxide
B. aluminium
C. oxygen
D. none of these
b. The balanced chemical equation for the above is:
A. 2Al,03 2 4Al + 30,
B. 3AlI203 & 6AIl + 90
C. 3Al302 » 9AIl + 30,
D. Al203 & 2Al + 302
c. The energy used for the above decomposition:
A. heat energy
B. sound energy
C. light energy
D. electric energy.
ii. Study the following statements :-
a. Chemical formula of sodium bisulphite is NaHSO3.
b. One molecule of NaHSO3 contains 3 molecules of oxygen.

c. 2 molecules of the compound will have 6 atoms of oxygen.
d. oxygen is the only non metal in this compound.

[2]



Which of these statements is/are incorrect?
A.ab,c
B.candd.
C.bandd
D.b,c,d
iii. Identify the types of chemical reaction occurring during rusting of iron. [2]
A. oxidation and exothermic
B. reduction and endothermic
C. combination and endothermic
D. decomposition and exothermic
Question 3.
A farmer and his son was adding fertilizers to the cropfield. Father was spraying
Ammonium sulphate when suddenly his son suggested to use ammonium

nitrate as the nitrogen content is more in it. [8]
a) Calculate the percentage of nitrogen in each of the compounds. (N=14,0=16
H=1,5=32)

b) Justify the suggestion of the son was apt or not.
c) ldentify the acid and basic radical in the fertilizer suggested by the son.
Question 4.
Kamla and Vimla both started to wash dirty clothes. Kamla used soap and
Vimla used detergent. [6]
a) Who do you think will take less time to do the job?
b) Give reason for your choice.
c) What Chemistry is behind the cleaning action of soaps?
Question 5.
a) Give scientific reasons: [6]
i. Ice at 0°C is a better cooling agent that water at 0°C.
ii. Table salt becomes sticky on exposure during rainy season.
iii. The odour of ammonia can be detected in the room by opening its bottle.
b) Point out a difference between each of the following:- [4]
i) dehydrating agent and drying agent
i) deliquescence and hygroscopy
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la. Raju said, “The shape of the earth is round”. Mita said, “No, it is like a square box”. Ram
thought, “Both are wrong” - but he did not have a correct answer for them. As a responsible
Geography student, provide them with a correct answer about the shape of our mother planet.
State the geographical term for it.

b. State TWO conclusive proofs in support of your answer.

c. Why is our planet known as the ‘“Watery Planet’? Justify your answer.

d. Why is earth the only habitable planet?

e. Fill in the gaps.

i. When seen from a sea-shore, the of a ship appears first.
ii. The earth rotates from to
iii. If the earth was flat, the pole star would have the same for all latitudes.

[2 x 5]

2a.The longitude of Mita’s place is 45° W, whereas the longitude that passes through Rita’s
city is 18° E. Rita called Mita and asked the time of her place. Mita said, “It is 9pm on 31st
January, 2022”. What was the time in Rita’s place?

b. A cricket match was to be held at Lords Stadium, London at 9am local time. Calculate the
time at which the viewers would see the live telecast in Kolkata.

c. i. By what name is the 180° E/W longitude known  as?
ii. If Manjit crosses the line of longitude in the direction as drawn by the arrow, will he gain or
lose a day?
iii. If the time at the 180° E longitude is 2pm, Sunday, what is the time at the 180° W longitude?
Ma— |~
njit
Easter Wester
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Hemis Hemis
phere 180  phere
degree
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d. i. Which are the great circles in the diagram below?
ii. State the advantage of great circles.
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[2+2+3+3]



3a. Rita celebrates her birthday on 21st March. Her brother, Arjun, celebrates his birthday on
the day when the sun is overhead on the Tropic of Cancer. State the geographical significance
of these two dates.

b. In Sydney, 25th December is one of the hottest days of the year. However, in India, we

celebrate Christmas in winter.
I. Justify your answer.
ii. Give a suitable term for this geographical phenomena

C. 1At what angle is the earth’s axis inclined?

ii. Mention TWO possible consequences if the earth’s axis was vertical instead of inclined.

d. The earth moves around the sun in a definite elliptical path.
. What is this movement known as?
ii. Mention the time taken to complete one such motion around the sun.
iii. What is the path on which the earth moves known as?

[2+2+3+3]
4a. 1 would like to gather knowledge about the interior of the earth. But it is not possible to do
S0 by excavation or exploration of the interior parts of the earth. What are the possible ways
for me to gather this knowledge?

b. Name the two transition zones in the earth’s interior and state their location.

c. Which layer of the earth is suitable for human habitation? What are the 2 broad divisions of
this layer? State their composition.

d. Itis the most inaccessible and densest part of the earth. Name this layer. State its composition
and characteristics.

[2+2+3+3]
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